Fill in the blanks. SCORE: /8 PTS
[a] The values a,, a,,a,,a,, - arecalledthe T ZpAS  ofasequence.
b It you are given the first term of a sequence, and all other terms of the sequence are defined using previous terms,
3 g q ! g1
then the sequence is said to be defined _ [2& CURSIVEL
[c] A sequence is called a/an (GELACT I C sequence if the ratios between consecutive terms are the same.
2. 2t-5 _ : 2 R e
[d] For the sum Z > 8 iscalled the WPPET2 LIMITT O S AP /]
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Using mathematical induction, prove that 3 is a factor of 4" —1 for all positive integers 7 . SCORE: /24 PTS
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Calculate

SCORE: /8 PTS
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Write the repeating decimal 0.627 as a fraction (integer divided by integer) by using a series formula. SCORE: _ /20 PTS

NOTE: Only the * 27 ™ is repeated.
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Write the following series using sigma notation. SCORE: /20 PTS
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Use the binomial theorem to find the coefficient @ of the ax”y~ term in the expansion of (3x+2y) . SCORE: /15 PTS
NOTE: You do NOT need to find the complete expansion of the binomial.
NOTE: Do NOT use Pascal’s Triangle to find the needed binomial coefficient.
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I'he first row of a stadium has 83 seats, and the second row has 89 seats. If the number of seats increases by the  SCORE: /20 PTS

same number from each row to the next, and the last row has 173 seats, how many seats are in the entire stadium ?
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[f the first term of a geometric series is 8x . and the second term is 24x | find the ninth term. SCORE: /15 PTS



Use the binomial theorem to completely expand (E_x': - 5"1-')';, SCORE: __ /20PTS

al coefficients,

You may use Pascal’s Triangle to find the needed binomi



